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x 0.025ns Td
x 10N 14 ENGN
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3-21

PMOS PMOS
39 Td PMOS ENGP
3-20 ENGP
10n 14 Td 40
3-21 3-20
10
9
. /
8 s . /
7 .
’ - -
/ Tt -
6
s | - - ENG(P-ch Tr)[J] 10714
—=—Td[ns] 40x 10”9
4
0.1 0.3 05
vin/\Vip; [V]
3-21

x 0.025ns Td
x 10N 143 ENGP
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3-6 3-5 NMOS
3-6 PMOS
P Td
P Td
P Td
3-20
NMOS
P Td
+ 0.3V + 0.1V + 0.5V
+ 0.3V
3-5 NMOS
N-ch P Td
Vtp [V] | Vin [V] (ns)
(fJ) | (101-24Js)

-0.1 0.1 0.123 83.142 10.226
-0.3 0.3 0.161 67.885 10.929
-05 05 0.221 63.509 14.035

3-21

3-6 PMOS

P-ch P TD
Vtp [V] | Vin [V] (ns)
(fJ | (101-24Js)

-0.1 0.1 0.120 85.666 10.280
-0.3 0.3 0.159 67.445 10.724
-05 05 0.223 63.239 14,102
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4

4-1

NMOS

CMOS

PMOS
Vtn

PMOS NMOS

PMOS NMOS
CMOS
[6]

Vtp 01V 03V 05V NMOS

0.1V 0.3V 05V 9
PMOS
PMOS Vtp 0.1V
Vtn 0.1V 0.3V 0.5V
Vtp 0.3V

Vtp 0.5V 4-1
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N-ch Tr

[J]

8.5E-14
’N
8.0E-14 —e—Vitp=-0.1
D .. —a— Vtp=-0.3
— 4— Vtp=-05
75E-14 .
-\ "
7.0E-14
O \-\ e
6.5E-14 e ~a
T -—aA
6.0E-14
0.1 0.3 0.5
Vitn
4-1 PMOS
1.5V + 0.3V
PMOS Vtp 0.5V
NMOS
4-1 4-1 J)
Vitn[V] 0.1 0.3 0.5
Vip=-0.1 8.3142E-14 7.3942E-14 6.7319E-14
Vtp=-0.3 7.3920E-14 6.7885E-14 6.4318E-14
Vtp=-0.5 6.7781E-14 6.4774E-14 6.3509E-14
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PMOS

4-2 4-1
NMOS
PMOS Vtp 0.1V
NMOS vtn 0.1V 0.3V 0.5V
Vtp 0.3V
1 Vtp 0.5V 4-2
fall 0.5 P-ch Tr [J]
9.0E-14
.-+ --Vtp=-0.1
8.5E-14 |- .. —=— Vtp=-0.3
_ — - - Vtp=-05
= 8.0E-14
75E-14 ‘..

o
A
6.5E-14

= \-
A — e — e — i — - A
6.0E-14
0.1 0.3 05
Vin
4-2 NMOS
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PMOS NMOS + 0.3V

NMOS PMOS
+ 0.5V
4-2  4-2 J)

Vtn[V] 0.1 0.3 05
Vtp=-0.1 8.5666E-14 7.4855E-14 6.8025E-14
Vitp=-0.3 7.4111E-14 6.7445E-14 6.4540E-14
Vtp=-05 6.6013E-14 6.3251E-14 6.3239E-14
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Vip 0.1V 0.3V 0.5V Vitn
0.1V 0.3V 0.5V 9
4-3
PMOS Vip 0.1V NMOS Vtn 0.1V
0.3V 0.5V
Vtp 0.3V 2 Vtp 0.5V
Vtp Vtn NMOS
Vtn 0.1V 0.5V 2
CMOS [ns]
025
0.23
0.21 //‘
% 0.19 e
=017 TR
015 s
0.13 e . --+--Vitp=-0.11
011 + — -7 —=— Vtp=-0.3
0.09 K’ — -4 — Vtp=-05"
0.07
0.05
0.1 0.3 0.5
Vin
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43 43 Vtn 0.3V
Vtp= 0.3V

NMOS Vitn NMOS
4-3 CMOS (ns)
Vitn[V] 0.1 0.3 05
Vtp=-0.1 0.123 0.174 0.230
Vtp=-0.3 0.106 0.161 0.223
Vtp=-0.5 0.093 0.154 0.221
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Vtp 0.1v. 0.3v 05V vtn 0.1V 0.3V

0.5V 9
4-4 PMOS
Vip 0.1V  NMOS Vtn 0.1V 0.3v 0.5V
Vtp 0.3V
1 Vtp 0.5V
Vip
PMOS
Vin Vtp
4-4
fall 0.5n [ns]

025 r

0.23 A . "

021 - — - - Vtp=-0.1

019 - —a— Vtp=-0.3
‘gl 017 .\.\".* - 'th=—0.5

0.15

0.13

* T~
011 —— ==
~— .

0.09 —=—

0.07

0.05 ‘

01 03 05 Vin
4-4
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44 44
+ 0.3V 4-4 4-3
PMOS Vitp
4-4 CMOS (ns)
Vtn[V] 0.1 0.3 0.5

Vip=-0.1 0.120 0.102 0.089

Vitp=-0.3 0172 0.159 0.153

Vtp=-0.5 0.229 0.223 0.223
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CMOS

CMOS
NMOS
Vin
Vin
Vin
IVipl
IVtpl
IVtpl
IVipl
IVipl
Vin
Vin
CMOS
Vtn | Vtp]
IVipl
IVipl
Vin

Vin

IVip]

Vin

PMOS
Vtn Vip
Vin
IVipl
IVipl Vtn
Vin
Vipl
Vtn | Vtp]
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Vitn 4-1
Vitn NMOS
IVipl
4-3 4-1 3 4-5
P Td
4-5 P Td
N-ch P TD
Vtp Vitn (ns)
(f3 | (10"-243s)
-0.3 0.3 0.161 67.885 10.929
-0.3 0.1 0.106 73.920 7.836 28.3
-05 0.1 0.093 67.781 6.304 42.3
4-5 Vtn=0.3V Vtp= 0.3V Vin
Vtp= 0.5V
P Td 42.3%
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0.1v



IVip]
4-2 PMOS
Vin
4-4 4-2 3 4-6 4-5
Vtn=0.3V Vtp= 0.3V Vtp= 0.1V
Vtn=0.5V
P Td 43.6%
4-6 P Td
P-ch P TD
Vip vin (ns)
(fJ (107-24Js)
-0.3 0.3 0.159 67.445 10.720
-0.1 0.3 0.102 74.855 7.635 28.8
-0.1 05 0.089 68.025 6.054 43.6
PMOS NMOS Vip=
0.5V Vtn=0.1V Vtp= 0.1V Vtn=0.5V

62



NMOS PMOS

CMOS

4-5 NMOS Vb 1.5v 0.3V
0.3V Jid -vg
ROOT Id
25
Vb=0.3 |
20
15- t Vb= |15
- ]
= ]
% 10-
5 ]
s
O i
Q ]
0]
00 o5 10 15 \/g
Voltage (V)
45  NMOS Vb 0.3V J1d -vg
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NMOS PMOS Vb 0.3v 1.5V

(MA**1/2)

ROOT Id

4-6

0.3V Jid -vg

30

ROOT_Id

Vg

15 10 05
Voltage (V)
PMOS Vb 0.3V
45 46
NMOS 0.3V
PMQOS 0.3V
P
PN
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PMOS NMOS

Cl cC2 C3 C4

Cl cC2 PMOS C3
C4 NMOS

Cl C2 PMOS
C3 C4
NMOS
Cl C2

PMOS C3
C4 NMOS

PMOS Cl

l/
L=05u I
W=125u —

C2

Vin Vout

‘ NMOS C3
— ~ 0039pF
‘ L=0.5u 1
W=5u c4__

4-7
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CMOS

4-7 MOS
Cl C2 C3 C4
c2 C1 C4
C3 cL P
C3 N
C1=0.014pF
C2=0.007pF C3=0.0055pF C4=0.00275pF
NMOS PMOS
PMOS 1.5V NMOS oV
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Voltage (V)

0.5ns

0.75Vv
0.03ns

0.75VvV

4-8

1-1

4-7

1.5

1.0

0.54

0.0+

Vout
Vin
\Vout2

4-8

Time (ns)
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4-9 NMOS
NMOS
NMOS 3-2

430uA 440uA

Current (UA)

0.44ns
0.4ns

-
3505
3005
250%
200%
150%
100%

50

O: -~ _ _
000 010 020 030 040 050 060 070 080 090 1.00

Time (ns)

4-9 NMOS
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4-10 PMOS
PMOS
PMOS 3-5
NMOS
PMOS
P
IP2

3

b

5

O

000 010 020 030 040 050 060 070 080 080 100
Time (ns)
4-10 PMOS
0.5ns 4-5
4-7 0.027ns 17%
P Td 12.7%
4-7 P Td
N-ch P TD
Vtp Vitn (ns)
(f3 | (10"-243s)
-0.3 0.3 0.161 67.885 10.929
0.134 71.255 9.548 12.7

69




Voltage (V)

0.5ns
4-11

4-7

0.75Vv 0.75Vv
0.02ns

Vout2
Vin
Vout

000 010 020 030 040 050 060 070 080 080 100
Time (ns)

4-11
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Current (UA)

4-12 PMOS
PMOS
PMOS 3-19

400uA 430UA
0.42ns
0.4ns

o]
350%
3005
2505
200%
1505
1005

50

0] - )
000 010 020 030 040 050 060 070 080 090 1.00

Time (ns)

4-12 PMOS
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4-13 NMOS

NMOS
NMOS 3-12
NMOS
Vin
PMOS 4-10
NMOS
IN
IN2
<
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2
5
O

000 010 020 030 040 050 060 070 080 080 100
Time (ns)
4-13 NMOS
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0.5ns
0.019ns 19%

P Td 8.9%
4-8 P Td

P-ch P TD

Vtp Vitn (ns)
(f3 | (10"-243s)
-0.3 0.3 0.159 67.445 10.720
0.140 70.136 9.819
4-7 4-8 P Td
PN
4-5 4-6
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1.0ns

0.5ns
1.0ns 4-7
4-9
4-10
4-9 1.0ns P Td
N-ch P TD
Vip Vitn
(ns) (fJ (107-24Js)
-0.3 0.3 0.202 77.485 15.652
0.149 82.172 12.244 21.8
4-10 10ns P Td
P-ch P TD
Vtp Vtn
(ns) (f (107-24J5s)
-0.3 0.3 0.204 77.779 15.867
0.165 78.289 12918 18.6
0.5ns
0.053ns 26%
0.039ns 19%
0.5ns
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4-14 SOl

NMOS PMOS
i
Cl C3
C2 Vdd C4
GND Vin
INMOS  PMOS C1

.

.

GND

Vdd

Vout -

4-14 SOl
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CMOS

PMOS NMOS

P Td

A205
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